{4.6~4.74}

468 [ F @9 BF, A 9o BE, A Gl 48] & FolA v |

a = 45°, P =80N \
YN
_ 160+120 mm _ E
tanf = T ae— 1.120 i \
= # = tan 1(1.120) = 48.24° 160mm | ! AN
B =10 - a =48.24° - 45° = 3.24° ;
N = 90° - § = 90° - 48.24° = 41.76° Vi o N
i 160mm
R _ P | “
sin(180° —«) sinf Pl
__sin(180° —a) sin135° 0
- ’=r sing = 80 N) sin3.24 ° | 250mm R
= 1000.9 N '

= R = 1001 N “48.2°

F _ P
siny sinf
_ siny  _ sin41.76°
v = sing (80 N) sin3.24°
= 942.7 N

= F =943 N ~45.0°

4.72 [ A de BE, Al g9 2EAdol 3 AHellM wbd ]
w = 200 N

EF _ 460 mm _ 23 _
AF ~ 240 mm 1 - 1917

= = tan (1.917) = 62.45°
_ £H _ 100 mm _ 5 _
@nf = o T a0 mm - 1z - 04
= 3 =tan (0.417) = 22.62°
A _ T _ W
sin(90° — 3) sin(90° — ) sin(a+ 3)

tana =

360mm

A sin(90° — )
Sin(oz—i—ﬂ) A
3 sin(90° —22.62°)
= (200 N) sin(62.45° +22.62°) 185.3 N
= A =1853N /62.4°
I = 51r}(90 C— )
sin(a+ )
_ sin(90° —62.45°)
= (200 N) sin(62.45° +22.62°) 92.8 N




